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m m
m m
100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? m kN/m? m
1 2 144.6 1.0 100.0 1.0 - 12.84 24
2 3 144.7 1.0 100.0 1.0 - 12.55 2.3
3 4 144.7 1.0 100.0 1.0 - 12.65 24
4 5 150.3 1.0 100.0 1.0 - 13.62 25
5 6 162.4 1.0 100.0 1.0 - 15.25 2.9
6 7 163.1 1.0 100.0 1.0 - 15.25 2.9
7 8 163.1 1.0 100.0 1.0 - 16.05 3.0
8 9 160.7 1.0 100.0 1.0 - 16.05 3.0
9 10 160.2 1.0 100.0 1.0 - 16.05 3.0
10 11 160.2 1.0 100.0 1.0 - 16.05 3.0
11 12 153.4 1.0 100.0 1.0 - 15.97 3.0
12 13 149.0 1.0 100.0 1.0 - 15.97 3.0
13 14 - - 100.0 1.0 - 11.68 2.2
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TEENBEICLVEEYOM® EEITERT S| T REOHBICLYRENMOB EEICERATS TEEDOBHICLVEEYOM EEITERT S | T REOHBICLYRENO EEICERTS
LEESNDA LEESNDA LEESND A LEESND A
TEED (BE) SN TEED (BEH) SN
. 8 A 4+ = s . B A g = s
AR ORRE | ooun/miE 82 2R RERRORE (400,n/m?% 127 2R i
NDOKRES| +FE |NDOKES| +FE | hOXES| +HE | hOXES| 7% NOKRES| +FRE [NHOKES| +FE | NHOXES| +FE | hOXES| 17
NIBRK| OFE |DI3BEKX| s |D3BEXK| s |DO3BEKXK| o DI3ERKR| OFE |DO>3bRK| OFs |D3BHK| ogs |0O36&8K| O
E0)) E0)) E0)) E)) L)) E0)) E0)) E0))
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 - - 100.0 1.0 - - 10.42 2.0 ~
2 ~ 3 - - 97.9 1.0 - - 8.33 1.6 ~
3 ~ 4 - - 100.0 1.0 - - 8.46 1.6 ~
4 ~ 5 114.2 1.0 100.0 1.0 - - 10.76 2.0 ~
5 ~ 6 140.4 1.0 100.0 1.0 - - 11.46 2.1 ~
6 ~ 7 140.4 1.0 100.0 1.0 - - 11.46 2.1 ~
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m m
m m

100kN/m? 100kN/m?

kN/m? kN/m? kN/m? kN/m? kN/m? kN/m? kN/m? m kN/m? m
1 2 - - - -
2 3 - - - -
3 4 - - - -
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